Name:

(Order of Operations) Sheet 4
Solve
4 1) {17x[34-12+(2x4)]}+3-20 (0 2) [(25-15)-(7x4+13)]-5 )
- N\ /
4 3) 56-92+{3x[(42 -(18+6 x5)]} )
Ans =
L Gain complete access to the largest D y
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Not a member
Please sign u
p to
ans= 93in complete D
\ qccess, J
4 7) 81+9-{[(4x1)+ )]+ (63+9)}1+4 )
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- N\ /
( 9) 95-10+{88+[4%x66+(5+1)]} \/10) [(6+8)x(11-3)]+14+98 h
- U\ /

Printable Worksheets @ www.mathworksheets4kids.com



Name:

Answer Key
(Order of Operations) Sheet 4
Solve

4 N N

1) {17x[34-12+(2x4)]}+3-20 2) [(25-15)-(7x4+13)]-5
- N\ /
4 N

3) 56-92+{3x[(42 -(18+6 x5)]}

Ans = -12 . D
L Gain complete access to the largest y
(" 5) (3+pas6xs_ Joollection of worksheets in all subjectsl§_ )
Not a member;
Please sign up to
Ans = 104 qain ComP’ef:e j

\ qccess, J
~ N

7) 81+9-{[(4x1)+ )]+ (63+9)}1+4
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- N\ /
4 N/ )

9) 95-10+{88+[4%x66+(5+1)]} 10) [(6+8)x(11-3)]+14+98
- U\ /
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